Paper / Subject Code: 86711/ Economics. Industrial and Labour Economics-11 (Rev.)

[Time: 2% Hours] [Total Marks: 80]

Please check whether you have got the right question paper.

N. B. 1) All the questions are compulsory.
2) Figures to the right indicate full marks.

1. Solve any two questions of the following: 20
a) Discuss the characteristics of the Indian labour market.
b) Suggest measures to solve the problems of female labours in India.
c) Give the Globalization and its impact on the Indian Labours.

2. Solve any two questions of the following: 20
a) Explain the Various Functions of Trade Union.
b) Analyse Historical Evolution of Trade Unions in India and their Present Status.
c) Explain the role of Outside Leadership in trade unions in India.

3. Solve any two questions of the following: 20
a) Analyse the Settlement Mechanism of Industrial Disputes.
b) What is the meaning of Collective Bargaining? Explain its features.
c) Discuss the conditions and lifestyle of Indian-workers.

4. Solve any two questions of the following: 20
a) Write down the various Principles of Labour Welfare.
b) Explain Role of the Labour Welfare Officer.
c) Discuss Social Assistance and Social Insurance.
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